L-TAM Module 1 Section 1 Exercises

1. Given ,,qs, = .75, determine ,yps,

2. Given p3o = .95, determine g5

3. Given 1ypyo = .9 and ,,p3 = .6, determine 3,p,,

4. Given y0p40 = .7 and gpyue = .9, determine ;5pys

5. Given 3¢p3c = .32 and ,¢pg, = .4, determine ;g5

6. Given 3op,0 = Z, 10Pe0 = %, 10920 = %: and 50qso = édetermine 304930
7. Givenp, = e ¥, pyyq = e 3% and ,p, =.1, determine p

8. Given ,p, =1—(.01t)2%,0 <t < 100, determine

(a) ,0p30 (Hint: Use factorization and the values of ;4p, and 5yp, )
(b) (P30 (Your answer will be an expression involving ¢.)

9. Given
X dx
30 0.1
31 0.2
32 0.3
33 04
34 0.5
35 0.6
36 0.7
37 0.8

determine

(@) 2930

(®) 2434

(©) 3930

(d) 3934

10. Given 50p40 = .63 and ;5p,5 = .7, determine 5)15G40

11. GlVen 10'20q30 = 2 and 106130 = 15, determlne 30p30



12. Given 3020940 = -19 and 30p4o = .2, determine 5447,

13. Given yq, =.01(k +1) fork =0,1,2,...,9, determine ;(py

14. Given f030 fao(t)dt = 1/2 and ff; fao(£)dt = 5/6, determine 1450940
15. Given ;550925 = .18 and 15q,5 = .1, determine f;; fao(D)dt

16. Given (40 = % fork =0,1,2, ...,49, determine

(a) E[Min(Kyo, 2)]
(b) Var[Min(K,q, 2)]

17. Given Q4 = .1(k + 1) for k = 0,1,2, ...,9, determine

() qy

() 1)qx
(C) 2|CIx
(d) 3px

18. Using mortality in the previous problems, determine Var(Min(K,, 3))

19. Given

determine

(a) eqgg
(b) Var(Kq)

20. Given yqp0 = % fork = 0,1,2, ...,79, determine e,
21. Given ,p, = (.91)%, determine ey,

. o
—05t " determine e,

22.Given ;p, =e€
23. Given .Gy = -, 0 < t < 80, determine 320

24. Given e5, = 25 and pgy = .98, determine es4



25. Given eg; = 10 and pgy = .95, determine e
26. Given e3y = 34.5, p3o = 2, and p3; = &, determine e3;
27. Given e, = 4.5, e,,, = 3.5, and p,4; = 3, determine p,,

28. Create a 3-year recursion formula for e,..



